(obs-bkg)
uncertainty

2.3 (13 TeV)

F T T L T T
F CMS ¢ Data —— Xg;Xg,LH (0.8 TeV)x10
A 10F B EWK  --- XguX3 RH (1.1 TeV) x10
> = » Bkg uncertainty
8 1= | elu+jets
g - 0t,0W,1b
%] c
1 —
g 10E
> =
w C
vV 102 e e e
= R LC i femmmaa pmEmmmmsmEmse——— =
C : 1 1 1 1 1 1 N
SIE 2
2l
2|8
olo O—Fu—-—--_r
-8 o
2|5 2
0 200 400 600 800
min[M(l,b)] (GeV)
2.3 ™ (13 TeV)
L T T L T T
10 CMS ¢ Data — Xg5Xg5LH (0.8 TeV) x10
A E ) B EWK  --- Xg5Xg RH (1.1 TeV) x10
E edey TOP Bkg uncertaint
2 e g ty
0] elutjets
- 0t,21W,1b
[ .
=
[
>
[0 I e """ leccccasccssensanaas
\%

2
e
2
0 200 200 500

800
min[M(l,b)] (GeV)

2.3 (13 TeV)

T
¢ Data

T T T 3
c — Xg X5 LH (0.8 TeV) x10 3
A 10 R B EWK  --- X, X5 RH (1.1 TeV) x10§
> g«*_ ) TOP Bkg uncertainty 3
§ 1 = =
O elp+jets E
» S 0t,0W, 22b E
= RN —
L e
>
L
v 102 cooo
1 1 1 1 1 1 1 1
3|E 2
2ls
2|8
alg ©
-g o
S -2[ |
0 200 400 600 800
min[M(l,b)] (GeV)
2.3fb* (13 TeV)
T T
1oL CMS ¢ Data — ><5,3><5,3 LH (0.8 TeV) x10
A _ B EWK  --- X, Xos RH (1.1 TeV) x10 =
> g&\ TOP Bkg uncertainty .
iy —
o 1 + elu+jets E
~ NN S 0t,21W, 22b 3
2 5 7
c 10* —
9] ity E
i . - - - R
v 102 ELE LR CEE T EE L L L EEECL L L -
C 1 1 1 1 1 1 1 ]
|2 2
O|c
3|8
ol ©
—8 o
2|5 -2 |
0 200 400 600 800

min[M(1,b)] (GeV)



